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Situation

It is 1989 and both the Soviets and the Western powers have been involved in a significant arms race for at least the last decade  (scenario 4).  Tensions have been raised to the trigger point and both sides have begun to mobilize.  World War III appears imminent.

Turn 1 (Days 1 –4)

The Soviets try to maintain peace time rules of engagement.  Though they know war is coming, they hope to sortie the majority of their fleet unopposed and take up position astride the crucial sea lines of communication (SLOC).  The West is well aware of the danger however, and though they have never launched a preemptory war, NATO authorizes weapons (conventional) free.  

Soviet

The Soviets have most of their fleet in port, but they all come out at once.  In the Pacific a carrier group and another surface action group built around a battleship slip out of the Sea of Japan and take station just east of the island.  Attack submarines (SAs) surge across the northern  Pacific trade routes.  Backfires head far out into the Pacific, hunting and sinking the active US carrier west of Midway.

 The Northern fleet sends a flood of submarines into the Norwegian sea, two CV groups proceed them, one heading just south of Iceland to attack two NATO warships, another staying further north for now.  Much of the fleet at Severomorsk is conventional powered and is held back in port for now.  More Backfires, staging from Cuba, attack into the central Atlantic, sinking another US Carrier group, though at the loss of 3 planes.

In the Mediterranean a SAG sails against the NATO bases in Italy and a mixed flight of Badgers from Libya and Bears from Sevastapol (who have to route around Turkey and Israel) attack a US CV group off Cyprus who has been tracked by a Soviet SA. The attack on Italy is successful in that two Italian ships in port are sunk, but the shore defenses sink the Soviet CV leading the attack.  The American carrier in the Med is on high alert and her air group  splashes all of the Badgers and Bears before they can close to missile range.  The trailing sub tries a surface missile attack but the combined ECM values of the task force cause it to miss and the captain decides against trying to close for a penetration attack.

In the Arabian sea the Soviets already have 2 CVs and a battleship, making a convenient port call at Yeman.  They put these ships squarely across the tanker routes and use more aircraft from East African bases to hunt and sink the US carrier group. 

All told they have sunk 3 US carriers and a dozen smaller ships.  Mail and May maritime patrol craft also manage to sink 3 of the US SBs.  And very significant forces are now at sea!  3 ASATs are launched against the American RSATs, but only two find their mark.

Western

There are three main objectives for this turn; get the remaining carriers to sea and out of reach of the Backfires, take out the airbases in Cuba and sink a bunch of subs.  The third mission falls to the maritime patrol aircraft, Orion’s and Atlantiques mostly.  They savage the submarines near Japan, and find fertile hunting in the Norwegian sea as well.  All told they sink some two dozen Soviets subs, including 9 SBs.  Cuba is attacked by a Surface Action Group (SAG) built around an Iowa class battleship, with two powerful cruisers in attendance.  Shore based missiles are salvoed at them as they close, but effective counter-measures keep the ships safe until they come into range and destroy the Cuban base.  No more Backfire raids from there for awhile!  The Pacific carriers are pulled far to the south, with two CVs gathering east of the Philippines for a dash into the Indian ocean.  The Atlantic carriers split up, but stay well on the western side of the Ocean, out of bomber range.  The French carrier Foch and escorts heroically stands out to sea and takes position between England and Iceland.  From here she can intercept the bombers coming south before they can fall on the merchant routes.

In other combat NATO uses submarines to penetrate two of the Soviet task groups, they can’t get the carriers but they do use surface missiles to sink several escorts, softening up the task groups for the future.  In the Med Italian shore batteries reengage the Soviet cruiser, sinking another one in partial atonement for the raid, and US submarines sink a couple of picket vessels along the North African coast, opening the route for a carrier raid on Libya.  Finally, they boost 3 ASATs to kill the closest CSATs to North America.

War Effects

Soviet Bombers not already used against western warships hit the merchant and tanker fleets hard.  In combination with the surface ships and subs astride the trade routes they sink 35 merchants and 25 tankers, a bit better than 25% of all such shipping available.  They close 3 of the trade routes to Europe and 3 more to Japan, which enables Soviet ground troops to overrun northern Germany and renders the Japanese base at Yokohama inoperable.

The Italians and Dutch ask for, and are granted, armistice.  This takes their fleets out of play and perhaps more importantly, closes the Italian naval bases, opening a path to the Mediterranean for the Soviet Black Sea fleet.  The Soviets have 25 victory points against negative 20  for the western powers (counting the negative 25 points assigned to NATO in this scenario).  A very comfortable lead!

Turn 2 (Days 5 – 8)

Conflict Level – The Soviets bid (I), 10 free victory points and if the war ended now they would have a major victory.  The Western powers don’t want to go nuclear, there are too many Soviet ships with A range weapons yet to be engaged.  So, we stay at level II.

Soviet Briefing – Comrade Secretary, things are going well.  We would have much preferred another couple of days to get our subs further out to sea, I’m afraid they suffered horrible at the hands of the western patrol planes, but we completely destroyed 3 CV task forces.  We closed the Atlantic and cut off Japan, while destroying most of their commercial shipping.  We lost Cuba, but that was to be expected.  The best news is in the Arabian sea, the US 5th fleet is nothing more than some warehouses at Diego Garcia, they don’t have a ship left.  

This turn we will tighten our grip on Japan, renew our assault on the GIUK line and try to keep Europe isolated again.  In the Arabian sea we can redeploy our ships to cover even more of the tanker routes, that will be like shooting very large, very slow, very flammable fish in a barrel!  NATO’s remaining carriers have fled out of range of all but the Bear bombers, so we will concentrate on commercial shipping all around the globe.

Soviet Move

The Soviet carrier task group takes station just off Tokyo, firmly astride most trade routes to Japan, while the nuclear powered battleship heads south to Okinawa.  He would have liked to take more escorts, but the DD and CGs are conventional powered and have to stay with the CV or find a port.  Mails and Mays from Vietnam and Kamchatka find and sink the remaining US subs on the Japanese sea lanes and more Soviet subs interdict the northern route to the US west coast.  Except for two Japanese subs and one frigate, the Western Pacific is in Soviet hands.

With CV Foch blocking the GUIK gap, the Backfires cannot reach the US carriers in the mid Atlantic, but a flight of Bears from Libya can make it.  Their commander can’t believe the US carriers are still operating alone, ignoring the lessons of the Second World War, or even the past few days when Soviet naval aviation had already claimed three carriers.  But, as the US Commander Air Group, could have told him, those successes were scored by Backfires, and the Bears are far more vulnerable.  The entire flight of Soviet bombers was shot down before closing to missile range.

Up in the UK – Iceland gap there occurred the first major surface combat as two Soviets CVs and escorts attacked the French vessels blocking that vital air route.  The Soviets handily outranged the French, CV Foch and escorts went under without causing any damage to the Soviets.

In the Mediterranean a large Soviet SAG went after two NATO subs off of Tunis.  As they closed in, the subs fired anti-surface missiles.  At range B the Soviets had no problem decoying them off, but as they continued to close the shore batteries joined in.  A cruiser was lost.  The Soviets, happy to have a surface target, destroyed the base and continued to close in on the subs.  The subs took out a helicopter carrier, and then were sunk by aircraft from the CV.  In the eastern Med, Backfires from Sevastapol, routed over the now harmless Italian base, and Badgers from Libya attacked the US carrier group.  Although additional fighters from Egypt and Turkey tried to help the ships, and indeed did splash some of the Soviet planes, the bombers did their work, sinking the carrier and her escorts.

In the Arabian sea, a flight of Badgers failed to find the sole US cruiser still afloat, but the surface ships spread out to cover even more of the tanker routes.  

Finally, they launch replacement communication satellites and use 6 ASATs to wipe out the western RSATs and 2 of the 3 western communication satellites (one ASAT failed on launch)

Western Briefing – The attacks in the Med really hurt us Mr. President.  We had been planning to go in and hit those Libyan airbases real hard, that and a carrier in the Iceland – UK gap would keep the sea lanes to Europe free from Soviet Bombers.  Now, we only have one CV in the western Med left and with the French defeat off Iceland, now there are two CVs up there, unfortunately they are Soviet CVs… Perhaps it’s time to consider Level  IV, operational nuclear war.  We pull back, then go nuclear.  Lots of the Soviets ships and subs are in port, they all be destroyed, as will three fourths of those damm bombers. 

“No, damm it” said the President.  “I won’t launch the ICBMs.  You told me you could win this war if I let you start shooting as the Russians came out, well get on with it”.  In that case, Sir, I recommend pulling out the Med entirely, we can block it with a carrier at Gibraltar, then doubling up our other carriers and attacking Iceland while also trying to make a run into the Indian ocean.  Japan looks like a lost cause, but maybe we reopen the oil routes around Africa and keep Europe.

Western Move

NATO opens with more P-3 Orion attacks, no surprise there.  What is surprising is their choice of target, a Soviet destroyer off Sri Lanka.  Loaded with Harpoons, the planes have to close to range C, which lets the Soviets shoot one down, but the other two both get hits and the destroyer sinks.

Just off Iceland we have the biggest surface engagement of the war, to date at least.  The Soviets have two carriers and four cruisers holding the gap open for the bombers.  The Americans send in 2 CVs, a CG and a DG.  In the initial engagement, at range A, the Soviets lose both carriers and 2 of their cruisers.  The Americans lose one carrier and both escorts.  A second strike from the remaining US carrier finishes off the last two Soviet cruisers, who still have not closed the range enough to even fire.  One US CV now controls the gap.

To their Northeast, seven British and US attack subs converge on the Soviet SAG built around a battleship, two destroyers and one frigate.  The subs use their anti-ship missiles.  The first salvo is fired by just two of the US subs that have the A range weapons.  They take out the frigate.  The next salvo more subs join in and the Soviets have lost the frigate’s ECM ability.  Both destroyers are sunk.  Still the subs press their attack, they now all the range and the battleship goes up in flames.

The French fleet at Marseille declines to surrender the Mediterranean.  They attack the Soviets off Italy, losing a CV but sinking a helicopter carrier and two smaller vessels.  They cannot press their attack to completion however, the remaining Soviet ship is an extraordinarily well protected light cruiser that their missiles cannot damage.

The few remaining Western ships in the Arabian sea withdraw to Diego Garcia to await reinforcements.   Finally the US replaces all of its communication and RSATs, then uses four ASATs to take out three of the Soviet communication satellites.  If the Soviets go nuclear, nobody wants their missiles getting mid-course guidance.

War Effects

The Soviets retained a lot of their bombers for anti-shipping missions, but except for route C across the Atlantic they found the sea lanes empty.  NATO kept all but the most critical routes empty.  This meant that NATO earned very few victory points, but they only lost 4 commercial ships this turn.  The lack of supplies closed two more bases in Japan however, and the Soviet army overran Germany and France, the later surrendering.

India decides to enter the war, joining the Eastern Bloc.  With the Soviets firmly in control of the Arabian Sea and Gulf this seems like a prudent move.  China is also reacting to the Soviet success, but in an entirely negative manner.  With Japan all but cut off, they fear they’ll be next, so China joins the Western alliance.

The West lost four more carriers and SBs this turn (two of each were French.  The Soviets lost two carriers, a battleship and their last ships/subs in the Atlantic.  There are no Soviet vessels south of Iceland and only a handful of subs and one battleship left in the Pacific.  The US Pacific fleet is still very strong, with two carriers just off Darwin and two more in the South Pacific.  In the Atlantic the US and British have maybe two dozen ships left, including three carriers.  There are four attack subs racing south, planing to round the Cape of Good Hope and head north into the Arabian sea.  The force correlation  favors the West, but the Soviets still have 18 Backfires, dozens of nuclear subs under the polar ice and a 20 to –32 lead in victory points.  And on the ground they are pressing hard for the Atlantic coast of Europe.

Turn 3 (Days 9 – 12)

The Soviets bid for Level I again.  With a big lead, they’d be delighted to have the war end right here, and if not then this is an easy 10 victory points.  The Western powers consider going to tactical nuclear, level III.  The big threat remains the Backfires, and nuclear strikes on their bases would close the base for the remainder.  But the carriers at Pearth are vulnerable, and it is critical they make it into the Indian Ocean, so the Western Powers stay at Level II

Shipping Allocation

Having preserved most of the shipping last turn, NATO needs to make sure they don’t lose any more ground in Europe.  With a carrier guarding the Iceland – UK gap, the Atlantic should be pretty safe.  Other routes around Africa that contribute to the defense of Europe are also assigned ships.  The intent is not so much to earn victory points as it is to keep the NATO armies in Europe from collapsing.

Soviet Briefing

The entrance of the Indian navy is a huge help, with those additional ships we should be able to keep the Arabian Sea and Gulf routes fully interdicted.  The US Carriers off Australia are clearly a threat and Backfires will fly against them from bases in Vietnam.  Likewise, another Backfire raid against the carrier off Iceland will be necessary.  We need that air route to attack the Atlantic shipping routes, at least until our ground forces reach Breast and then we can attack the shipping directly.  NATO has withdrawn completely from the Mediterranean and we have substantial surface forces there doing nothing.  Unfortunately, we don’t have an airborne army to seize the Suez canal so we can’t easily transfer the ships to the Middle East.  Instead, they must try to break out into the Atlantic,  destroying yet another US carrier off Gibraltar on the way.  Finally, it is time to move the SBs out from under the ice, we need to be able to hit targets in China and North America.

Soviet Move

The big (12 Backfires)  air raid on Perth was a partial success.  Seven of the bombers were shot down as the Australian SAM crews were on top of their game.  The remaining five bombers carried enough missiles to sink one of the US carriers and a destroyer on picket duty, but they missed the second carrier.  Up in the GIUK gap, the Backfires sank the US carrier, but again losing three bombers so there are only eight left.  May patrol planes concentrated against the US and British subs in the Norwegian sea, sinking all seven of them.  Sweet payback for all the Soviets subs sunk when they got too close to land based air.  

In the Med the Soviets assembled a CV, BG and CG (all range A ships) and several smaller vessels for the breakout. They sank the US carrier and her two escorts, but not before the carriers planes and missiles from the NATO base sank the Soviet CV and CG.  The Soviets elected to not try and close the range to destroy the base, but they are painfully aware that all of their conventional powered ships will have to return to Libya without a CV to replenish them.  Only the nuclear powered BG will be able to actually break out into the Atlantic next turn.

Western Briefing

OK, got lucky at Perth with one CV surviving.  By herself, she is not strong enough to fight the Soviets in the Arabian Sea, so we’ll have to run that gauntlet again with at least one more carrier.  However, with the Soviet bomber force decimated now, if we can pair up carriers they can defeat any airstrike, so it will make sense to probably send two carriers to the Indian ocean.  And by positioning two carriers in the Iceland – UK gap we can close that for the duration.  The problem is we only have five carriers left and it takes at least four to guard the Atlantic.  And the Soviets still have a BG and CV loose in the Pacific….

Western Move

The Soviet BG in the Pacific had sailed south, apparently planning to hook up with the forces off India.  As he came within range of  Clark field in the Philippines NATO sent a swarm of Harpoon laden Orion’s after him.  The Orion’s stood little chance against the sophisticated air defense, which bagged six of them.  But that left eleven more and their Harpoons struck home, sinking the battleship not far from where Prince of Wales was sunk in a demonstration of air power long ago….

Off of Vietnam the Chinese sink one SB and airpower gets another, the last vessels based at Cam Ranh, and eliminating one of the major threats of nuclear strikes against China.

More Orion’s continue to whittle away at the submarines around Japan and the Aleutians.  At Gibraltar the shore batteries fire again, but at range A they can only pick off a CG and DG, the nuclear battleship is untouched and poised to sail onto into the Atlantic.  Two  submarines sail from Diego Garcia and take out the Soviet CG off Yeman.  This puts them in range of Soviet airpower, but opens the Red Sea and the eastern shore of Africa.

The Germans send their Atlantique sub hunters on a long range mission, up the coast of Norway and than east into the Barents Sea, where they bag a Soviet missile boat that thought it was completely safe.  

War Effects

The West had deliberately not run merchant ships on the Pacific routes, but they did concentrate on trying to keep Europe supplied.  What they did not realize until it was too late was that the Soviet ships off Gibraltar were now on no less than five of those routes!  The losses among the commercial ships were heavy, thirteen merchants and eleven more tankers sunk.  Worse was that this closed six routes into Europe, which lead to even worse news.  Lacking supplies, the remains of the NATO armies could not stop the Soviets from occupying all of Italy (almost irrelevant now anyway) and, the worst news, reaching the Atlantic coast in France.  This means the Soviets can now base even their shorter ranged Badgers in France, where they can reach the shipping lanes.  All of the efforts to get the two carriers into the Iceland – UK gap are now for naught as the Soviets have direct access to the Atlantic now.

In terms of Victory points, this turn was a draw.  The Soviet gains for sinking commercial shipping were offset by the loss of five more SBs, and the Western gains from keeping a few SLOCs open were offset by the loss of the shipping.  Score now stands at 22 for the Soviets against a negative 30 for the Western Powers.

Turn 4 (Days 13 – 16)

The Soviets feel that they have got this war in the bag.  Western Europe, except for Spain and England, has been over run and Japan is completely inoperative.  The entry of the Chinese is a nuisance, their coastal submarine force had its success last turn, but can no longer play a major role, and having the additional ships of the Indian fleet patrolling the Arabian Sea makes it that much harder for the Western Powers.  And having captured air bases in France, the bombers are almost certain to shut down those last sea routes to England.  Once again, the Soviets bid for Level 1 and pick up 10 more points.

The western powers are desperate.  Had France held out, the carriers now transiting the north coast of Australia might have been eventually defeated the Soviets in the Indian Ocean and Arabian Sea and reopened the tanker routes around Africa.  But with Soviet ships off Gibraltar and a new air route into the Atlantic, there is no longer any hope of winning.

Unless they go nuclear.  The British Prime Minister sees nothing to lose, his country will be strangled soon, most of the rest of NATO is either over run or surrendered and nobody can even communicate with Japan anymore.  NATO bids for Level IV, Operational Nuclear War

Nuclear War effects

First effect is that the West promptly loses another 75 victory points.  Then, every ship in a base hex is eliminated.  The two Soviet CVs and 1 BG at tip of India are the first to go, then 2 US cruisers in an Australian port, then virtually the entire Chinese navy, all of the Japanese navy, the Soviet carrier and escorts off Yokohama, a US battleship transiting the Panama Canal, the last Canadian destroyer, virtually all of the British fleet, all of the Spanish fleet, the Soviet Battleship off Gibraltar, over a dozen ships and subs in the Soviet Northern and Baltic ports, two NATO subs off Yeman, all but one Indian destroyer and finally a US Cruiser at Diego Garcia.  

While both sides clearly had a lot of ships in port, neither side has any group of five or more ships at sea, so the next step is to check each individual  ship of CG or higher.  The US loses one of its carriers off Iceland and numerous cruisers.  The Australians lose their carrier.  All told the West lost about 30 ships, including two carriers, a battleship and about a dozen cruisers in the nuclear exchange.  The Soviets lost fewer ships, but they included four carriers (counting the Indian one) a battleship and eight diesel missile boats!  Essentially all of the Soviet surface combatants are destroyed.

Three fourths of all aircraft were wiped out, a major consideration for the West as that leaves only 3 Badgers and 2 Backfires.  Two thirds of all unlaunched satellites are destroyed, again an advantage to the West as they had the maximum number of all birds already in space, while the Soviets were missing 80% of their CSATs after last turn and now only have two left.  All class 2 and 3 bases are destroyed, and the formerly class 1 bases now function as if they were class 3.  The Panama and Suez canals are destroyed, certain shipping routes are inoperative, which does however open up others further off shore. Finally, half of all merchant and tanker shipping is eliminated.

Soviet Briefing

Wow!  Who would have thought it?  The West just sacrificed a huge proportion of its own ships, why didn’t they at least sail them before launching the ICBMs?  They also gave up 75 victory points and another 60 for the lost merchants and tankers.  Truly a desperate move!  And the motherland remains safe, only a few ports on the Barents Sea were nuked.

So, time to take stock.  The majority of our nuclear missile boats remain safe, either under the polar ice or just south in a position to hit every potential target in China, the US and what’s left of unoccupied Europe.  And there does not appear to be much the West can do about it, they have very few submarines left.  So we’re probably safe if the mad men think about escalating to even Level V.

In the Pacific we’re down to a couple of SAs on the northern route to America.  The American carriers survived in the Pacific so we can expect them to charge north, we won’t last long.  We have nothing in the Atlantic, Mediterranean or Norwegian seas, just a few boomers left in the Barents and they are not moving.  All of our airbases have been destroyed, so we can’t do much to challenge shipping in the Atlantic.  We lost our ships in the Indian Ocean and off the Gulf, all that is left is two Indian frigates.  

So there is very little offensive punch left.  We can use the few remaining planes to deliver nuclear strikes, so we should be able to take out some major warships, but our ability to interdict the commercial shipping is almost nil.  The trick will be to keep those last few surface vessels afloat as long as possible, maybe supplemented with a few attack subs from the Pole.

Soviet Move

The Soviets establish a line of attack subs off Japan to interdict any shipping.  More attack subs come south from the polar ice, sinking a US Cruiser on the northern route to Europe and using nuclear SSMs to sink the carrier in the Iceland – UK gap.  The Indian frigates reposition themselves to cover as many of the Gulf routes as possible.  There are no targets for the aircraft, so all the bombers are assigned to hunt commercial shipping in the North Atlantic.  The last two CSATs are launched successfully and the US CSAT over the Atlantic (closest to USSR) is destroyed.  No more ASAT weapons though.

Western Briefing

OK, that was some lousy staff work!  Nobody realized how many ships were in port, especially among the allies!  The Chinese are really mad and the Spaniards and Japanese would be too if there was anybody left to tell us about it.  We may yet save England, but it sure cost her entire fleet!

But the main objectives are achieved.  All of the major Soviet ships were located at critical shipping junctions, which happen to correspond with bases, so they were destroyed.  The Backfires and their bases are all but gone, so we can send commercial shipping into most routes in the Atlantic.  The routes along the Asian coast are still dangerous, as is the Arabian Sea, so top priority has to be hunting down those last Soviet subs and Indian frigates.

Western Move

One carrier picks up the Australian ships and heads for the Arabian Sea.  The Attacks subs and remaining US carriers in the Pacific head north.  In the Atlantic the surface ships, all conventional powered are forced into the few remaining ports on the Atlantic coast or in England.  Two SAs and a greatly diminished number of Orion’s, flying from the two remaining airbases, one in England and one at Gibraltar, take out the 3 Soviet subs astride route A.  The attack subs that had been heading south in the Atlantic to reach India, split up.  Two continue on, two reverse course, now heading for the north pole.  A replacement CSAT is boosted into orbit, and two of the Soviets CSATs are taken out.

War Effects

The Soviets have 3 subs left in the Pacific, and the two Indian frigates astride various shipping routes.  Their five remaining aircraft can also strike route A in the North Atlantic.  But no commercial ships were assigned to these routes, so no ships are sunk.  But this does mean southern Norway falls to the Soviets and the last remaining Chinese base, as well as the Philippines become inoperable.

But Western shipping does keep 10 routes open, for 30 points.  Nine Soviets boomers were destroyed, mostly in port, and only two Western subs.  Victory points now stand at Soviets 47, West –85.

Turn 5 (Days 17 – 20)

Soviet options are quite limited, they only have about a dozen subs left, and a handful of planes, no surface ships except the Indians.  They could bid for Level IV themselves, but that would only serve to kill a few Western Destroyers that put into port, and would cost 75 victory points.  Level V, full scale strategic nuclear war is a possibility, they appear to have more SBs in position than the West, but the lack of CSATs makes their missiles less accurate and they can’t hit the Australians or South Africans.  Best bet looks to be Level I again.

For the west there is no need to go nuclear again, but they are way behind so they can’t afford to bid Level I.  Instead they go back to Level II

Soviet Briefing

Not much to do, the question is can the West earn enough points with her shipping to catch up?  Best bet is to interdict that shipping as much as possible and hold the ballistic missile submarines in readiness.

Soviet Move

One Attack sub heads for the route Z, along the US West Coast, another stays off Japan and the third heads for the Arctic to protect the missile boats.  The two attack subs off Iceland come south, onto the shipping lanes and the Indian Frigates hold position.  They launch their last two CSATs, one of which fails to make it into orbit.  

Western Briefing

All commercial shipping is allocated, with a preference for the European routes.  Got to keep England alive!  All activity has to be directed towards hunting down those last Soviets and protecting the commercial shipping.

Western Move

A US CV is moved to the southern end of the Sea of Japan, where it can stop any Soviet bombers from coming south, and another CV heads in the same direction.  The Chinese nuclear SA, along with some US subs, sinks the Soviet sub off Tokyo.  The Soviet sub off the US Pacific Coast is sunk by Orion’s, and the last British Orion’s and some more US attack subs sink the Soviets in the North Atlantic.  Two US attack subs sink the Indian frigates and there are no longer any Soviet vessels across any of the shipping lanes.  The US burns it’s last two ASATs to take out the only two remaining Soviets CSATs, then watches it’s own last CSAT burn up on the launch pad.  

War Effects

The Soviets send their remaining bombers against route A, the direct route to England.  They sink two ships, but that is not enough to close the route as the Western player has over scheduled the routes within air range.  Worse, one of the Backfires is lost, leaving only 3 planes.  Although there is not enough Western shipping to keep all routes open, they do keep Europe supplied and the Soviets gain no ground this turn, for the first time since the war started!  However, they do see the last port in Japan rendered inoperative, and now routes NPQRS are inoperative for the remainder.  Which means the US and Chinese assault came too late, and those ships in the Pacific are now serving no function.

The West kept 12 routes open, for 36 points, and nobody lost a boomer, so the score is now Soviets 59, West –49.

Turn 6 (Days 21 – 24)

Soviets forgo Level V in favor of level I and the 10 victory points again.  West stays with Level  II.

Soviet Briefing

There isn’t much to do.  If we send the boomers south they can probably make it to the shipping lanes around England, but they can’t survive there as long as NATO has the Orion’s and attack subs.  So tighten up the bastions and hold on to the gains made in Europe.

Soviet Move

Nothing, except to designate all remaining bombers to hit commercial shipping

Western Briefing

There are not enough merchants and tankers left to fill all the available routes, even with the loss of the Asian routes.  So it becomes very important to make sure those ships are carefully allocated.  We need carriers in the North Atlantic, but the best bet is to go after those Soviets subs in the Polar region

Western turn

US SBs move into the Northern Pacific, from here they can hit all targets in Eastern Russia,  The carriers head east at top speed, but with the Panama canal out of commission it is unlikely they can get to England to be of much help.  The attack subs race north into the Bering sea, just as other subs in the Atlantic go north and actually make it under the ice cap.  None of these subs can find a Soviet target though, they are going too fast for accurate searches.  One US boomer slips back into the Med, otherwise NATO would not be able to hit the Urals.  And one other boomer heads around the Cape of Good Hope to get in range of India.  The last US carrier and her Australian escorts sails into the Arabian Sea with the intention of going all the way up into the Gulf in case the Soviet bombers come south for the tankers.

War effects.

The Soviets have three bombers left, they hit a merchant off England, but lose one of the Badgers in the process.  England’s life lines stay open, and the West completes deliveries on 13 routes, for 39 points.  Score now stands at Soviets 70, West –10

Turn 7  (Days 25 – 28)

Soviets bid for peace, the West continues at Level II

Soviet Briefing

We have a slight advantage in missile boats, but that is offset by the lack of communication satellites so in effect our subs worth only half as much as the Western subs if we go to Level V.  And while NATO cannot yet hit India, we can’t, and probably never will be able to, hit the far southern targets in Africa and Australia.  To say nothing of the negative 150 victory point penalty.  Nuclear war is no longer an option.  Which means our missile boats are nothing but rich targets for NATO, they should be recalled.  

Our only hope of disrupting the commercial shipping is the bombers, and we are down to only two of those, so at best we’ll be able to sink one merchant or tanker per turn.  There is nothing to do but hold on.

Soviet Move

Fool! Exclaimed the Soviet admiral.  “If we pull our SBs back into port NATO will simply attack with ICBMs again.  There is no safety except in the open sea, and under the ice we don’t have to worry about their surface ships or airplanes.”  The Soviets send two subs back to port, but the rest stay under the ice, or just outside it.

Western Briefing

It all comes down to running those convoys through and hunting down as many SBs as possible

Western Move

The Western attack subs move further under the ice cap, but they have trouble locating the Soviet subs.  Even when they do, their torpedoes are not always enough in a one on one engagement.  One Soviet boomer is sunk, for the cost of one NATO SA.

War Effects.

The Soviet bombers pick of another merchant off England, without losing a plane.  NATO delivers again on 13 routes and the Soviets lost 5 points for the boomer, so the score now stands at Soviets 76, the West 29.

Turn 8  (Days 29 – 32)

Soviets bid for peace, NATO stays at Level II

Soviet Briefing

Nothing to do but wait it out, hope NATO runs of ammo and ambition

Soviet Move

The Soviets spot the US missile submarine off Libya, and using their last maritime patrol planes they sink him!  A nice 5 points for that mistake

Western Briefing.

That was crazy to have a SB within range of Soviet airpower, we’re not going to launch!  And quit fooling around under the ice, have the subs pair up and hunt down single targets.

Western Move

The US SBs in the Pacific have been in position well outside of Soviet patrol planes for some time, but the Atlantic squadron, with shorter range missiles had been loitering off the French coast, they now pull back to mid-Atlantic.  The attack subs are stalking their prey more carefully in the Arctic, sinking 4 Soviet SBs.  The US carrier groups in the Pacific realize they’ll never get around Cape Horn in time, so they turn back north to see if they can find any subs in the Bering Sea.

War Effects

The Soviet bombers switch targets, hoping to hit a route that already has the minimum number of ships.  They sink a tanker in the Gulf, which would effect the ground war in Europe, but NATO had slightly overloaded that route.  And another bomber is lost, ending the effectiveness of the bomber fleet.

NATO completes commercial shipping on 13 routes again, for another 39 points and the Soviets lose 20 for their submarines, while NATO loses 5 points.  Soviets are still ahead 67 to 63.

Turn 9  (Days 33 – 36)

Soviets bid 10 for peace, The West Level II

Soviet Briefing

The only offensive option left for the Soviets in Level V, Strategic Nuclear War.  That option can only be chosen by the side behind on Victory points, so it’s not possible yet, but will be by Turn 10.  The Kremlin countermands the previous order to return the SBs to base (thus saving a certain Admiral the firing squad). 

Soviet Move

Soviet subs redeploy into firing positions along the northern seas, just out from under the ice.  Two subs transit the Bearing sea to be able to reach both China and the western US.  Another sub penetrates Hudson Bay, even with short range missiles she can reach all of the eastern US.  There are no more satellites to launch…

Western Briefing.

Clearly a nuclear exchange is contemplated, perhaps only a bluff.  No Western ships were even attacked, so all of our subs are on station.  As many Soviet subs as possible must be sunk this turn.

Western Move

Five subs are sunk, including the one in Hudson Bay, but that leaves four Soviet subs on station

War Effects

The Soviets no longer have enough bombers to hunt commercial shipping, and their subs are not on shipping lanes, so no vessels are lost and the West takes credit for 13 routes functioning.  That makes it 102 to 52 in favor of the West, who lead for the first time!

There is no point in playing the last turn.  While the Soviets could now bid for Level V, they only have three subs left, and while those three are cleverly positioned to cover almost all of the targets in the West, they do not have satellite guidance.  The West has nine subs left, they can reach every target in the Soviet Union and India, and they do have satellite guidance.  On that basis alone the West would gain the most, subtract the 150 point penalty the Soviets would incur for choosing Level V and the margin is only greater.

After Action Review

Except for turn 4, when the West initiated a Level IV Operational Nuclear exchange, this entire war was fought with conventional weapons.  That makes it rather unusual in my experience, there is a great temptation on both sides to use at least the tactical (Level III) nuclear weapons available, but I think it made good sense for both sides to avoid the nuclear stuff this time.

It is also quite unusual for the Soviets to bid for peace the entire game!  Yet it made sense.  If they can get one, or even better two, turns of peace to deploy their fleet they are in much better shape then being bottled up in the port.  The West was quite right to go to war on turn one.

The West had very few ships in the Arabian Sea and that cost them big time as the Soviets closed off the Middle East oil right from the beginning.  It would be interesting to try this game with a free set-up, allow more “port visits”, somewhat like the Soviet ships in Yeman and Libya.  

Soviet naval aviation is deadly!  The first tun saw three US carrier sunk and much of the strategy of the rest of the war revolved around trying to close or hold open the gap between Iceland and England as a bomber route for the Soviets to the Atlantic.  The Soviets might be criticized for focusing a bit too much on warships, had they been able to sink more commercial shipping the west could never have staged the victory point come-back we saw.

The US Pacific fleet was largely ineffective.  The San Diego based carriers never fired a shot, steaming first south to avoid Soviet airpower, then west for the Indian Ocean, then back north for Japan, then Southeast with intention of entering the Atlantic via Cape Horn, then finally back north.  In the end they finished up off San Diego having accomplished nothing.  The US should probably have risked them more and possibly saved Japan.

Its hard to say if the Soviets should have pulled their SBs back to port after the nuclear exchange.  On the one hand, they really were not in a position to launch Level V and those lost subs at sea added to the Western victory points.  On the other hand, had they been in port, they might have tempted the West into another Operational Nuclear exchange, and in the end the points for the subs was not decisive.  (Though it would have been much closer….)

By far the biggest mistake was the Soviet’s stationing of so many powerful ships at the junctions of key SLOCs.  It is certainly necessary to guard those junctions, one of the reasons the West lost so many commercial ships to surface raiders is those very junctions, but that mission can be accomplished with a single destroyer.  Instead, the Soviets placed their best ships at those junctions, off India there was 2 CVs and a BG.  That force could have probably kept the US carriers out of the Arabian sea forever, but since they were stationed on a base hex, they disappeared in the turn four nuclear exchange.  To be fair, that particular base hex was Indian and not in play at first, but the lesson must be learned, ships in base hexes are vulnerable!

The West misplayed the nuclear exchange as well, losing significant ships who were also in base or transiting the Panama Canal.  And yet, had they waited one more turn, they might not have had enough time to save England, and of course the Soviets might have realized their danger.

In the end it came down merchants and tankers.  The West had just enough to keep a minimum number of routes open, and the Soviets ran out of ships and planes to do anything about it.  Which is probably the biggest lesson, this war will be decided on the basis of closing or holding open, the SLOCs.  Everything else is a means to an end.

Great game!  And this was a fun session, I look forward to playing again.

